
   437-Mechanic Motor Vehicle 
  [Turn over 

3

1. To which part the vacuum unit connection of Distributor is
connected?  
iì›§mh›ß ÷ÁU³® ³Ûm Cøn¨¦ G¢u £õPzxhß Cøn¢v¸US® 

(A) Air cleanerf (B) Carburettor 

 Hº QÎÚº  Põº¦÷μmhº 

(C) Inlet manifold (D) Exhaust manifold  
 Cß&ö»m ö©Û÷£õÀmk  GUì&íìk ö©Û÷£õÀmk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. The Number of winding in the stator of an alternator is  
BÀhº÷Úmh›À ì÷hmhõº øÁ°ßi[ß GsoUøP 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. Which type of wipers are used for Heavy motor (Diesel Troks)
vehicles? 
PøμP ÁõPÚzvÀ G¢u ÁøP øÁ¨£ºPÒ £¯ß£kzu¨£kQÓx? 

(A) Electrical operated wiper  
 Gö»Ui›UPÀì C¯UP¨£k® øÁ¨£º 

(B) Vacuum operated wiper 

 öÁØÔhzuõÀ C¯UP¨£k® øÁ¨£º   

(C) Hydraulically operated wiper  
 vμÁzuõÀ C¯UP¨£k® øÁ¨£º 

(D) Compressed air operated wiper 
 AÊzuU PõØÓõÀ C¯UP¨£k® øÁ¨£º   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. Contact breaker points are opened by the cam and closed by the  
PõshõUm ¤÷μUPº £õ°sm ÷PªÚõÀ vÓUP¨£kQÓx ©ØÖ® GuÚõÀ 
‰h¨£kQÓx 

(A) Same cam (B) Centrifugal force 

 A÷u ÷P®  ö\sm›¨³UPÀ ÷£õºì 

(C) Magnetic force (D) Spring tension  
 ÷©UÚiU ÷£õºì  ì¤›[ öhß\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. What is the working principle of alternator? 
Guß Ai¨£øh uzxÁzvÀ BÀhº÷Úmhº ÷Áø» ö\´QÓx? 

(A) Ohms law (B) Law of Resistance  
 Kªß Âv  uøh Âv 

(C) Electro Magnetic Induction  (D) Lenz’s law 
 ªßPõ¢u yshÀ  ö»ßì Âv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. Most suitable device for anti theft system is   
Bsi&öuL¨m ]ìhzvØS ªPÄ® ö£õ¸zu©õÚ \õuÚ®  

(A) motor (B) solenoid 

 ÷©õmhõº  ö\õ¼Úõ´k 

(C) cylinder  (D) siren lamp 
 ]¼shº  ø\μß »õ®¨ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. The number of diodes used in an Alternator are  
BÀhº÷Úmh›À £¯ß£k® øh÷¯õkPÎß GsoUøP 

(A) 10 (B) 5 

(C) 7 (D) 6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. An alternator frame is made of  
BÀhº÷Úmhº ¤÷μ® BÚx CuÚõÀ BÚuõS® 

(A) Cast iron  (B) Aluminium  
 ÷Pìm A¯ß  A¾ªÛ¯® 

(C) Copper (D) Brass  
 Põ¨£º  ¤μõì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

9. Distributor cap is made of  
iì›§mhº ‰i CuÚõÀ BÚx 

(A) Back Lite (B) Fibre 

 ÷£Uø»m  Lø££º 

(C) Plastic  (D) P.V.C 
 ¤ÍõìiU  ¤.Â.] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. While fitting battery observe correct 
ªßP»zøu ö£õ¸zx® ÷£õx \›¯õP EÒÍuõ GÚ PÁÛUP¨£h ÷Ási¯x

(A) Polarity  

 ÷£õ»›mi 

(B) Mounting 
 ©Äsi[  

(C) Distilled water 
 iìiÀ Áõmhº  

(D) Nothing  
 |õzv[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. Current will flow through a diode, when it is connected  
J¸ øh÷¯õk ÁÈ¯õP ªß\õμ® ö\À» ÷Ási¯ {ø»°À Ax 
CønUP¨£mi¸¨£x  

(A) In forward bias (B) In reversed bias 

 £õºÁõºk L£¯êÀ  ›Áºìk L£¯êÀ 

(C) To any suitable battery (D) Suitable earth  
 \›¯õÚ ÷£mh›°À  \›¯õÚ GºzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

12. The rotor arm of coil ignition system fitted to a four cylinder engine
is drive at  
iìi›¤³mhº Aø©¨¦ öPõsh ÷£mh› Põ°À CUÜ]¯ß ]ìh® 
CßâÛÀ ÷μõmhº Bº® _ØÓ¨£kQÓx 

(A) twice engine speed  

 CßâÛß C¸ ©h[S ÷ÁPzvÀ  

(B) engine equal speed 
 CßâÛß \© ÷ÁPzvÀ 

(C) half engine speed  
 CßâÛß £õv¯ÍÄ ÷ÁPzvÀ  

(D) quarter engine speed 
 CßâÛß PõÀ £Sv ÷ÁPzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. Which is the most commonly used wiper in all motor vehicles?  
ö£õxÁõP AøÚzx ÷©õmhõº ÁõPÚ[PÎ¾® G¢u Âu©õÚ øÁ¨£º 
£¯ß£kzu¨£kQÓx? 

(A) Electrically operated wipers  

 ªß\õμzuõÀ C¯UP¨£k® øÁ¨£º  

(B) Hydraulically operated wipers 
 vμÁzuõÀ C¯UP¨£k® øÁ¨£º 

(C) Vacuum operated wipers  
 öÁØÔhzuõÀ C¯UP¨£k® øÁ¨£º  

(D) Compressed air operated wipers 
 AÊzuU PõØÓõÀ C¯UP¨£k® øÁ¨£º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. The hall-effect distributor has shutters that move between the  
íõÀ GLö£Um iìm›¨³mh›À EÒÍ uPkPÒ |P¸Áx CÁØÔØQøh÷¯ 
|P¸QßÓÚ 

(A) contact points  
 PõshõUm £õ°skPÒ 

(B) sensor coils 

 ö\ß\õº Põ°À 

(C) two poles of the magnetic sensor   
 ÷©UÚiU ö\ß\õ›ß C¸ x¸Á[PÐUQøh÷¯ 

(D) terminals of the distributor cap 
 iì›¨³mhº ‰i°¾ÒÍ •øÚPÐUQøh÷¯   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. How many cells are in the 12 V Battery?  
12 V ÷£mh›°À GzuøÚ ö\ÀPÒ EÒÍÚ? 

(A) 2 cells (B) 6 cells 

 2 ö\ÀPÒ  6 ö\ÀPÒ 

(C) 9 cells (D) 12 cells 
 9 ö\ÀPÒ  12 ö\ÀPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Battery while charging electrical energy convert to which energy?  
÷£mh›ø¯ ªß÷ÚØÓ® ö\´²® ÷£õx ªßÚõØÓÀ G¢u BØÓ»õP 
©õÖQÓx? 

(A) Mechanical energy (B) Chemical energy 

 C¯¢vμ BØÓÀ  ÷Áv BØÓÀ 

(C) Heat energy (D) Sound energy 
 öÁ¨£ BØÓÀ  J¼ BØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. Which device inflate the air bag in few milli seconds during vehicle
collision?  
ÁõPÚ® Â£zxÒÍõS®÷£õx G¢u \õuÚ® ]» ªÀ¼ ö|õiPÎÀ Hº ÷£U&I 
Â›Áøh¯ ö\´QÓx? 

(A) Seat belt pre tensioners   

 ^m ö£m ¨› öhß\ÚºPÒ  

(B) Steering lock 
 ìi›[ »õU 

(C) GPS tracker  
 GPS iμõUPº  

(D) Inflator module  
 Cß¤÷Ímhº ©õlÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. Which Acid used in Automobile lead acid battery is?  
Bm÷hõö©õø£¼À £¯ß£kzu¨£k® ö»m B]m ÷£mh› B]m BÚx 

(A) Hydrochloric acid (B) Hydrofluoric acid 

 øím÷μõ S÷Íõ›U Aª»®  øím÷μõ L¤÷Íõ›U Aª»® 

(C) Dilute nitric acid (D) Dilute sulphuric acid 
 }ºzu ø|m›U Aª»®  }ºzu P¢uP Aª»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. The capacity of the condensers used in the Automobiles ranges
Generally between  
Bm÷hõö©õø£ÀPÎÀ £¯ß£kzu¨£k® Pshß\ºPÎß ö£õxÁõÚ 
öPõÒÍÍÄ 

(A) 0.10 to 0.15 micro farads   

 0.10 •uÀ 0.15 ø©U÷μõ ÷£μmì   

(B) 0.20 to 0.25 micro farads 
 0.20 •uÀ 0.25 ø©U÷μõ ÷£μmì 

(C) 0.30 to 0.40 micro farads  
 0.30 •uÀ 0.40 ø©U÷μõ ÷£μmì   

(D) 0.40 to 0.50 micro farads 
 0.40 •uÀ 0.50 ø©U÷μõ ÷£μmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. The type of wiper unit used in present day cars 
uØPõ» Põº&À £¯ß£kzu¨£k® øÁ£º ³Ûm G¢u ÁøPø¯ \õº¢ux? 

(A) Mechanical (B) Vacuum 

 ö©UPõÛUPÀ  öÁUP® 

(C) Hydraulics  (D) Electrical type 
 øímμõ¼U  G»Um›U ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. The PCV valve is located between the  
PCV ÁõÀÄ ———— Cøh÷¯ Aø©¢xÒÍx? 

(A) air cleaner and the carburettor   

 Hº QÏÚº ©ØÖ® Põº¦÷μmhº  

(B) carburettor and the intake manifold  
 Põº¦÷μmhº ©ØÖ® Cß÷hU ÷©Û÷£õÀm 

(C) intake manifold and air cleaner   
 Cß÷hU ÷©Û÷£õÀm ©ØÖ® Hº QÏÚº  

(D) intake manifold and crank case 
 Cß÷hU ÷©Û÷£õÀm ©ØÖ® Qμõ[ ÷Pì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. Which is used to control the evaporation emission of the Fuel Tank? 
G›ö£õ¸Ò ÷h[QÀ C¸¢x BÂ¯õQ öÁÎ÷¯ÖÁøu Pmk¨£kzu Gx 
£¯ß£kQÓx? 

(A) Carbon canister   
 Põº£ß ÷PÛìhº 

(B) Catalytic converter  
 ÷Pmh¼miU PßöÁºhº   

(C) Selective controlled reduction   
 ö\»Ui[ Pßm÷μõÀk ›hU\ß 

(D) Positive crankcase ventilation  
 £õ]iÆ Qμõ[÷Pì öÁßi÷»\ß   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. ULSD - is Diesel with these removed 
ULSD Gß£x CøÁ }UP¨£mh j\»õS®  

(A) Lead (B) HC 

 ½m  Ga.] 

(C) Sodium (D) Sulphur 
 ÷\õi¯®  \À£º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. What is the expansion of ‘EMC’ system? 
EMC system &zvß Â›ÁõUP® GßÚ? 

(A) Emission Module System  
 Gªåß ©õlÀ ]ìh® 

(B) Emission Middle System 

 Gªåß ªiÀ ]ìh®   

(C) Emission Maintenance System  
 Gªåß ö©´hÚì ]ìh® 

(D) Emission Major System 
 Gªåß ÷©áº ]ìh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. Which type of Engine uses SCR for Emission Control?  
G¢u ÁøP CßâÛÀ Gªåß Psm÷μõ¾UPõP SCR £¯ß£kzu¨£kQÓx? 

(A) Petrol Engine (B) Diesel Engine 

 ö£m÷μõÀ Cßâß  j\À Cßâß 

(C) LPG Engine (D) CNG Engine 
 LPG Cßâß  CNG Cßâß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. The proposed date of implementation of Bharat Stage-V throughout 
nation is  
£õμz ì÷hä&V |õkPÒ •ÊÁx® ———— |õÒ •uÀ |øh•øÓ¨£kzu¨£h 
EÒÍx. 

(A) 01.04.2020 (B) 01.04.2021 

(C) 01.04.2022 (D) 01.04.2023 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. The device used to reduce the Exhaust noise is known as  
öÁÎ÷¯Ö® Áõ²ÂÀ \¨uzøu SøÓUP £¯ß£k® E£Pμn® Gx GÚ 
TÖP? 

(A) Exhaust manifold (B) Exhaust pipe 

 GUéõìk ö©Û÷£õÀmk  GUéõìk ø£¨ 

(C) Tail pipe (D) Muffler 
 hõ¯À ø£¨  ©¨Íº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. What is the acronym for EGR in emission control system?  
Gªåß Psm÷μõÀ ]ìhzvß EGR GßÓ uÛzuÛ GÊzxPÎß ÂÍUP® 
GßÚ? 

(A) engine gas recirculation  (B) exhaust gas recirculation 

 Cßâß ÷Pì Ÿ\ºS÷»\ß  GUéõìm ÷Pì Ÿ\ºS÷»\ß 

(C) exhaust gas regulator (D) emission gas recirculation  
 GUéõìm ÷Pì öμS÷»mhº  Gªåß ÷Pì Ÿ\ºS÷»\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. When does a Fresh charge escape from the petrol engine exhaust?   
G¨÷£õx ö£m÷μõÀ Cßâß G›P»øÁ Fresh charge GUéõìmkhß 
öÁÎ÷¯ÖQÓx? 

(A) During Valve Lead (B) During Valve Open 

 ÁõÀÄ ½k \©¯zvÀ  ÁõÀÄ K£ß \©¯zvÀ 

(C) During Valve Leg (D) During Valve Over Lap 
 ÁõÀÄ ö»U \©¯zvÀ  ÁõÀÄ KÁº ÷»¨ \©¯zvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. Which types of vehicle emission is measured in “g/kWh”? 
G¢u ÁøP ÁõPÚ GªåÚõÚx “g/kWh” °ÚõÀ AÍÂh¨£kQÓx?  

(A) two wheeler vehicle  (B) three wheeler vehicle 

 l Ã»º ©mk®  w› Ã»º ©mk® 

(C) light motor vehicle (D) heavy motor vehicle 
 C»S μP ÁõPÚ®  PÚμP ÁõPÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. Electrical shock absorber which car used?  
G¢u Põ›À Gö»Um›PÀ åõUP¨\º£º £¯ß£kzu¨£kQÓx? 

(A) Ambassador Car (B) Maruti 800 Car 

 A®£õêhº Põº  ©õ¸v 800 Põº 

(C) Audi Car (D) None of all above  
 Bi Põº  ÷©÷» EÒÍ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

32. Which solution used for checking of unloader value?  
Aß÷»õhº ÁõÀøÁ £›÷\õv¨£uØPõP G¢u ö\õ¼åøÚ¨ £¯ß£kzxÁõ´? 

(A) Soap solution  (B) Wax 

 ÷\õ¨¦ ö\õ¼åß  ö©ÊS 

(C) Paste  (D) None of the above 
 £ø\  ÷©ØPsh AøÚzx® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. The part which permits variation in the distance between the spring
eyes of a leaf spring as the spring flexes is called  
½¨ ì¤›[&ß ì¤›[ & “I” PÐUS Cøh÷¯ EÒÍ }Í ©õØÓzøu 
AÝ©vUS® ì¤›[ ö|QÌÄ £õP® ———— GÚ AøÇUP¨£kQÓx. 

(A) U–bolt  (B) Shackle 

 U–÷£õÀm  ÷\UQÒ 

(C) Leaf (D) Bush 
 ½¨  ¦è 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   437-Mechanic Motor Vehicle 
  [Turn over 

17

34. The Brake bleeding process removes ————— from the Hydraulic 
brake system.  
øíiμõ¼U ¤÷μU ]ìhzvÀ Gøu ¥½i[ ö\´¯ ÷Ásk® 

(A) Air (B) Vacuum 

 PõØÖ  öÁØÔh® 

(C) Excess Fluid (D) Excess Pressure  
 AvP©õÚ B°À  AvP AÍÂÍõÚ AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. What is the function of Traction Control System?  
iμõU\ß Pßm÷μõÀ ]ìh®&ß ÷Áø» GßÚ? 

(A) Prevent wheel spinning  
 ÃÀ ì¤ßÛ[ BÁøu ukUQÓx 

(B) Release the pressure to expansion tank 

 GUì÷£ß\ß ÷h[U&ß AÊzuzøu ÂkÂUQÓx   

(C) Reduce the engine torque   
 Cßâß hõºU&I SøÓUQÓx 

(D) Reduce steering effort  
 ìi¯›[ ÂøÍøÁ SøÓUQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. Which type of Brake System save the vehicle from skidding?  
G¢u ÁøP ¤÷μU ]ìh® ÁõPÚ® \ÖUSÁvÀ C¸¢x £õxPõUQÓx? 

(A) Hydraulic brake (B) Fail safe brake 

 øímμõ¼U ¤÷μU  ö£°À ÷\¨ ¤÷μU 

(C) ABS brake (D) Air brake 
 ABS ¤÷μU  Hº ¤÷μU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. Which vehicle used for Electronic adjustable – rate shock absorber?  
G¢u ÁõPÚzvÀ G»UmμõÛU – ÷μm åõUP¨\õº£º £¯ß£kzu¨£kQÓx?  

(A) Benze Car (B) Ambassador Car 

 ö£ßì Põº  A®£õêhº Põº 

(C) Maruti 800 (D) Alto K 10 Car 
 ©õ¸v 800  BÀ÷hõ K 10 Põº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. The brake shoe and linings are connected by  
¤÷μU åûøÁ²® ø»Û[øP²® GÆÁõÖ CønUP¨£mkÒÍx? 

(A) Binding material (B) Riviting  
 ø£si[ ö©mi›¯À  ›Âmi[ 

(C) Bolt and Nut (D) Screw method  
 ÷£õÀm Aßk |m  ìS¸ ö©zuk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. Practically brake efficiency is  
ö\´•øÓ AÍÂÀ ¤÷μU vÓß GÆÁÍÄ C¸US®? 

(A) 100% (B) 80% 

(C) 60% (D) 40% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. Which component is help to operating the brake shoe cam shaft in
the air brake system?  
Hº ¤÷μU ]ìhzvÀ G¢u \õuÚ©õÚx ¤÷μU çÂØPõÚ ÷P® åõ¨øh 
C¯USQÓx? 

(A) Brake booster (B) Slack adjuster  
 ¤÷μU §ìhº  ]»õU Amáìhº 

(C) Spring brake actuator  (D) Flick valve 
 ì¤›[ ¤÷μU BU_÷Ámhº  L¨¤¼U ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

41. In the Suspension System Leaf Spring one hole is fitted to vehicle
from shock and another eye hole fitted to   
\ìö£ß\ß ]ìhzvÀ EÒÍ ½¨ ì¤›[ EÒÍ J¸ ‘I’ ÷íõÀ ÁõPÚ £õi 
¤÷μ®ªÀ åUQ¾® ©ØöÓõ¸ ‘I’ ÷PõÀ GuÝhß CønUP¨£mi¸US® 

(A) bed (B) purch 

 ö£m  £ºa_ 

(C) ‘U’ clamp  (D) none of the above 
 ‘U’ QÍõ®¨  ÷©÷» EÒÍ GxÄ® Qøh¯õx

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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42. How many piston having in the wedge type brake adjuster?  
öÁmä ÁøP ¤÷μU Amáìh›À GzuøÚ ¤ìhßPÒ EÒÍÚ? 

(A) One (B) Two  
 JßÖ  Cμsk 

(C) Three (D) Four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

43. Commonly, the re-generating brakes are provided  in  
ö£õxÁõP Ÿ&öáÚ÷μmi[ ¤÷μU Aø©¨¦ ö£õ¸¢v°¸¨£x  

(A) Petrol engine prime mover system   
 ö£m÷μõÀ Ggâß ¤øμ® ‰Áº ]ìh®  

(B) Diesel engine prime mover system 
 j\À Ggâß ¤øμ® ‰Áº ]ìh® 

(C) Gas engine prime mover system  
 ÷Pì Ggâß ¤øμ® ‰Áº ]ìh®  

(D) Electric motor prime mover system  
 G÷»m›U ÷©õmhõº ¤øμ® ‰Áº ]ìh®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. How many air tanks are used in dual air brake system?  
k¯À Hº ¤÷μU ]ìhzvÀ GzuøÚ Hº ÷h[SPÒ £¯ß£kzu¨£kQÓx? 

(A) One (B) Two  
 JßÖ  Cμsk 

(C) Three (D) Four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. The pipe line pressure of in hydraulic brake system is approximately
øímμõ¼U ¤÷μU ]ìhzvÀ ø£¨ ø»Ûß ¤μåº GÆÁÍÄ? 

(A) 5 to 7 lbs (B) 15 to 17 lbs 

 5 •uÀ 7 lbs  15 •uÀ 17 lbs 

(C) 25 to 37 lbs (D) 35 to 47 lbs 
 25 •uÀ 37 lbs  35 •uÀ 47 lbs  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. The disc is attached to the which component in the disc brake
system?  
iìU ¤÷μUQÀ iìUPõÚx ö£õ¸zu¨£kÁx Cuß G¢u £õPzxhß?  

(A) Piston (B) Caliper 

 ¤èhß  Põ¼¨£º 

(C) Wheel hup  (D) Steering Knuckle  
 ÃÀ í¨  ìi¯›[ |UQÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. In the Fail Safe air brake system spring brake actuator are used
for the  
ö£°À ÷\¨ Hº ¤÷μU ]ìhzvÀ ì¤›[ ¤÷μU BU_÷Ámhº ———— À 
£¯ß£kzu¨£kQÓx. 

(A) Front brake (B) Right hand side brake 

 •ß ¤÷μU  Á»x £UP ¤÷μU 

(C) Left hand side brake (D) Rear brake 
 Chx £UP ¤÷μU  ¤ß £UP ¤÷μU  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. In the gas filled shock absorber use of special gas is  
÷Pì L¤Àk \õUå¨\õº£º ÁøPPÎÀ £¯ß£kzu¨£k® ]Ó¨¦ Áõ²ÁõÚx 

(A) Oxygen (B) Nitrogen  
 BUêáß  ø|mμáß 

(C) Sodium (D) Helium  
 ÷\õi¯®  ï¼¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. The bellows are used in which type of suspension system?  
G¢u ÁøP \ìö£ßåß ]ìhzvÀ ö£À÷»õì Aø©¨¦ £¯ß£kQÓx? 

(A) Conventional suspension system   
 PßöÁßåß \ìö£ß\ß Aø©¨¦ 

(B) Independent suspension system 

 Cßiö£ßhßm \ìö£ß\ß Aø©¨¦   

(C) Air suspension system  
 Hº \ìö£ßåß Aø©¨¦ 

(D) Rubber spring suspension system 
 μ¨£º ì¤›[ \ìö£ßåß Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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50. What type of shock absorbers used in Two Wheeler?  
C¸ \UPμ ÁõPÚzvÀ £¯ß£kzu¨£k® åõU A¨\õº£º GßÚ ÁøP? 

(A) Van type shock absorber   
 ÷Áß ÁøP åõU A¨\õº£º 

(B) Piston type shock absorber 

 ¤ìhß ÁøP åõU A¨\õº£º   

(C) Mechanical type shock absorber  
 ö©UPõÛUPÀ ÁøP åõU A¨\õº£º 

(D) Telescopic type shock absorber 
 öh»ì÷Põ¨¤U ÁøP åõU A¨\õº£º   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. Wheel cylinder made by 
ÃÀ ]¼shº G¢u E÷»õPzuõÀ ö\´¯¨£kQÓx? 

(A) Brass (B) Silver 

 ¤zuøÍ  öÁÒÎ 

(C) Cast iron (D) Bronze 
 Áõº¨¦ C¸®¦  öÁsP»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. Mechanical brake (Hand brake) operated by 
ö©UPõÛUPÀ ¤÷μU (øP ¤÷μU) C¯USÁx Gx? 

(A) Hand (B) Foot 

 øP  PõÀ 

(C) Automatic (D) None of the above 
 Bm÷hõö©miU  GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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53. In hydraulic brake system Tandem master cylinder operated by 
øímμõ¼U ¤÷μU ]ìhzvÀ hsh® ©õìhº ]¼shøμ C¯USÁx 

(A) Single pedal (B) Double pedal 

 J¸ ö£hÀ  Cμsk ö£hÀ 

(C) Three pedal (D) All of the above 
 ‰ßÖ ö£hÀ  ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

54. In hydraulic brake system brakes the pedal force is transmitted to
the brake shoe by means 
øímμõ¼U ¤÷μU ]ìhzvÀ ¤÷μU ö£hø» AÊzx®÷£õx Guß 
EuÂ¯õÀ ¤÷μU ç AÊzu¨£kQÓx. 

(A) Hydraulic oil (brake fluid) 
 øímμõ¼U B°À 

(B) Seed oil 

 ÂøuPÒ ‰»® EØ£zv Gsøn 

(C) Tree oil  
 ©μ[PÎÀ C¸¢x EØ£zv BS® Gsøn 

(D) All of the above 
 ÷©ØTÔ¯ AøÚzx®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. Generally which type of disc brake American car used? 
ö£õxÁõP G¢u ÁøP iìU ¤÷μU Aö©›UPß Põ›À £¯ß£kzu¨£kQÓx? 

(A) Caliper type (B) Mechanical brake 

 Põ¼¨£º øh¨  ö©UPõÛUPÀ ¤÷μU 

(C) Power brake (D) None of the all above 
 £Áº ¤÷μU  ÷©÷» EÒÍ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. Which part of use the Brake shoe adjustment in air brake system? 
Hº ¤÷μU ]ìhzvÀ, ¤÷μU ç&øÁ Amöáìm ö\´ÁuØS G¢u £õP® 
£¯ß£kQÓx? 

(A) Brake valve (B) Unloader valve 

 ¤÷μU ÁõÀÄ  Aß÷»õhº ÁõÀÄ 

(C) Slack adjuster (D) Pressure release valve 
 ]»õU Amáìhº  ¤μ\º ›½ì ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

57. Which part of tyre referred as ‘crown’? 
h¯º&À G¢u £õP® ‘QμÄß’ GÚ SÔ¨¤h¨£kQÓx? 

(A) Thread width (B) Rim width 

 zμm AP»®  ›® AP»® 

(C) Tyre width (D) Thread radius 
 h¯º AP»®  zμm Bμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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58. What is the possible tyre wear due to improper toe-in? 
•øÓ¯ØÓ ÷hõ&Cß Põμn©õP HØ£k® h¯º ÷u´©õÚ® GßÚ? 

(A) Center wear (B) One side wear 

 ø©¯ £Sv ÷u´©õÚ®  J¸ £UP® ÷u´©õÚ® 

(C) Shoulder wear (D) Abnormal wear 
 ÷\õÀhº&À ÷u´©õÚ®  A\õuõμn©õÚ ÷u´©õÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. A vehicle front wheel centre place and back wheel centre place
between placed is called? 
J¸ ÁõPÚzvß •ß£UP ÃÀ ø©¯zvØS® ¤ß£UP ÃÀ ø©¯zvØS® 
Cøh¨£mh yμ® GßÚ? 

(A) Wheel base (B) Wheel track 

 ÃÀ ÷£ì  ÃÀ iμU 

(C) Front over hang (D) Rear over hang 
 L¤μsm KÁº í[  ÷£U KÁº í[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. In a tyre rapid wear of shoulder what reason? 
GßÚ PõμnzvÚõÀ h¯º ÷íõÀhº AvP©õP ÷u´©õÚ® HØ£kQÓx? 

(A) Low air pressure (B) Medium air pressure 

 SøÓÁõÚ PõØÖ AÊzu®  |kzuμ PõØÖ AÊzu® 

(C) High air pressure (D) Very high air pressure 
 AvP PõØÖ AÊzu®  ªP AvP PõØÖ AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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61. Which type of wheels used for medium vehicle and cars? 
ö£¸®£õ»õÚ C»S μP ÁõPÚ® ©ØÖ® PõºPÎÀ £¯ß£kzu¨£k® ÃÀ 
GøÁ? 

(A) Wire wheel (B) Disc wheel 

 J¯º ÃÀ  iìU ÃÀ 

(C) Split wheel (D) Heavy vehicle wheel 
 ì¤¼m ÃÀ  öíÂ öÁîPÀ ÃÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

62. The tread will wear for under Inflated tyres on 
SøÓ¢u PõØÓÊzu® EÒÍ h¯º £mhÚ ——————— ÷u²®. 

(A) at the centre (B) at the edges 

 ø©¯zvÀ  ÂÎ®¦ £SvPÒ 

(C) heel and toe (D) feathery type 
 RÌ ©ØÖ® ÷hõ  ö£öu› ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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63. What is the purpose of spokes provided in the wheel? 
ÃÀ&À ì÷£õUì Aø©UP¨£mi¸¨£uß ÷|õUP® GßÚ? 

(A) Provide accurate rounds of rim 
 ›®&À \›¯õÚ Ámh ÁiÁzøu HØ£kzxQÓx 

(B) Distribute pre load evenly 

 ¤› ÷»õk&I J÷μ ©õv›¯õP £QºQÓx 

(C) Provide directional stability of vehicles 
 ÁõPÚzvØS vø\ ìvμ ußø©ø¯ öPõkUQÓx 

(D) Support the chassis frame of vehicle 
 ÁõPÚzvß ÷\êÀ ¤÷μ®&ØS \¨÷£õºm BP C¸UQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

64. Heavy duty pressed type rims which vehicle used? 
öíÂ lmi ¤μìk øh¨ ›® G¢u ÁõPÚzvÀ £¯ß£kzu¨£kQÓx? 

(A) Trucks (B) Cars 

 iμU  Põº 

(C) Motor cycle (D) Auto 
 ÷©õmhõº ø\UQÒ  Bm÷hõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. In an alternator the magnetic field is produced in the  
BÀhº÷Úmh›À Põ¢u ÂøÍÄ E¸ÁõÁx CuÛÀ  

(A) Rotor (B) Stator 

 ÷μõmhõº  ì÷hmhº 

(C) Slip ring (D) Regulator 
 ì¼¨ ›[  öμS÷»mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. The Angle between centre line of King pin and a vertical line is 
called  
Q[ ¤ß ø©¯U ÷PõmiØS® uøμ°¼¸¢x Áøμ¯¨£k® ö\[SzxU 
÷PõmiØS® Cøh÷¯ EÒÍ ——————— ÷Põn® GÚ 
AøÇUP¨£kQÓx. 

(A) Camber angle (B) Caster angle 

 ÷P®£º B[QÒ  ÷Pìhº B[QÒ 

(C) Toe out angle on turns (D) King pin inclination 
 ÷hõ AÄm B[QÒ B¨ ÷hºß  Q[ ¤ß CßQÎ÷Ú\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. An under-inflated tyre wear out more ———————? 
SøÓ¢u PõØÓÊzu h¯›À ÷u´©õÚ® ——————— À |øhö£ÖQÓx? 

(A) near centre (B) in cross section 

 ø©¯zvØS A¸QÀ  SÖUS öÁmk&À 

(C) in internal direction (D) near edge 
 Em¦Ó vø\°À  ÂÎ®¦ A¸QÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. Which type of gear converts rotary motion in to linear motion and
vice versa? 
G¢u ÁøP Q¯º _ÇÀ C¯UPzøu }ÍÁõUS C¯UP® ©ØÖ® Gvº©õÓõP 
©õØÖQÓx? 

(A) Helical gear (B) Rack and pinion 

 öí¼UPÀ Q¯º  ÷μU ©ØÖ® ¤Û¯ß 

(C) Spur gear (D) Bevel gear 
 ì£º Q¯º  ö£ÁÀ Q¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. Two piece of Disc mostly used for which vehicle? 
Cμsk £õP[PÍõP ¤›UPTi¯ iìU G¢u ÁõPÚzvÀ 
£¯ß£kzu¨£kQÓx? 

(A) Scooter (B) Cycle 

 ìTmhº  ø\UQÒ 

(C) Bus (D) Car 
 £ì  Põº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. What is the disadvantage of excessive positive camber in the wheel
alignment? 
ÃÀ Aø»ßö©sm&À £õ]iÆ ÷P®£º AvP©õÚõÀ HØ£k® ÂøÍÄPÒ 
GßÚ? 

(A) Tyre outer edge will wear out fast 
 h¯º&ß öÁÎ ÂÎ®¦ ÂøμÁõP ÷u´©õÚ® Aøh²® 

(B) Tyre center will wear out 

 h¯º&ß ø©¯¨£Sv°À ÷u´©õÚ® Aøh²®   

(C) Tyre bleeding wire wear out 
 h¯º&ß ¥iÀ J¯º ÷u´©õÚ® Aøh²® 

(D) Tyre thread wear out 
 h¯º&ß vμm ÷u´©õÚ® Aøh²®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. What does ‘BLDCM’ mean in DC motor? 
DC ÷©õmhõ›À ‘BLDCM’ Aºzu® GßÚ? 

(A) Brush less DC motor (B) Brush length DC motor 

 ¤μè ö»ì DC ÷©õmhõº  ¤μè }Í® DC ÷©õmhõº 

(C) Bend less DC motor (D) Belt length DC motor 
 ÁøÍÁØÓ DC ÷©õmhõº  ö£Àm }Í® DC ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. Brief of “HFCEV” 
HFCEV –ß Â›ÁõUP® GßÚ. 

(A) Hydrogen fuel cell electric vehicle 
 øímμáß L¤³À ö\À ªß\õμ ÁõPÚ® 

(B) High front cover electric vehicle 

 AvP •ß PÁº ªß\õμ ÁõPÚ®   

(C) Hydrogen flex cell electric vehicle 
 øímμáß ö|QÌÄ ö\À ªß\õμ ÁõPÚ® 

(D) High fuel cell electronic vehicle 
 AvP L¤³À ö\À ªßÚq ÁõPÚ®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. If thin cable are used for starter motor. What happen 
ö©¼¢u J¯ºPÒ ìhõmhº ÷©õmhõº ]ìhzvÀ £¯ß£kzvÚõÀ GßÚ 
BS®. 

(A) Cable will get heated up 
 ÷P¤Ò J¯ºPÒ AvP©õÚ öÁ¨£® HØ£k® 

(B) Supply more current 

 Pμsmk AvP©õP ö\À¾®   

(C) Supply lesser current  
 Pμsmk SøÓÁõP ö\À¾® 

(D) Voltage drops 
 ÷ÁõÀm÷hä mμõ¨ HØ£k®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Which is the one Battery Electric Vehicle charging? 
ªß\õμ ÁõPÚzvÀ ÷£mh› \õºä ö\´²® •øÓ Gx? 

(A) Internal plugin 
 EÒ ö\õ¸Q 

(B) No plugin 

 ö\õ¸Q CÀø» 

(C) External plugin and fuel tank  
 öÁÎ¨¦Ó ö\õ¸Q ©ØÖ® G›ö£õ¸Ò öuõmi 

(D) Only external plugin 
 öÁÎ¨¦Ó ö\õ¸Q 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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75. What is the full form of EV? 

EV ß Â›ÁõUP® GßÚ? 

(A) Energy voltage (B) Electric vehicles 

 BØÓÀ ªßÚÊzu®  ªß\õμ ÁõPÚ[PÒ 

(C) Electric voltage (D) Energy vehicles 
 ªß\õμ ªßÚÊzu®  BØÓÀ ÁõPÚ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. Which vehicle has an electric motor and an IC Engine? 
G¢u ÁõPÚzvÀ ªß\õμ ÷©õmhõº ©ØÖ® IC Cßâß EÒÍx? 

(A) Only HEV (B) HEV, PHEV and FCEV 

 HEV ©mk÷©  HEV, PHEV ©ØÖ® FCEV  

(C) HEV, PHEV (D) PHEV, FCEV 
 HEV ©ØÖ® PHEV  PHEV ©ØÖ® FCEV  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. Which is FCEV energy is converted in to energy 
FCEV  G¢u BØÓÀ GßÚ BØÓ»õP ©õØÓ¨£kÁx Gx? 

(A) Electrical to Chemical 
 ªß\õμzv¼¸¢x Cμõ\¯ÚzvØS  

(B) Electrical to Mechanical 

 ªß\õμzv¼¸¢x C¯¢vμÂ¯À 

(C) Chemical to Electrical  
 Cμ\õ¯Úzv¼¸¢x ªßÛ¯À 

(D) Chemical to Mechanical 
 Cμ\õ¯Úzv¼¸¢x C¯¢vμÂ¯À   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. Expansion of FCEV for Electric vehicle types. 
G»Um›U ÁõPÚzvß ÁøP°À FCEV Gß£uß Â›ÁõUP® 

(A) Fuel combustion electric vehicle 
 L¨²À P®£\ß G»Um›U öÁQUQÒ 

(B) Fuel cell electric vehicle 

 L¨²¯À ö\À G»Um›U öÁQUQÒ   

(C) Fusion cell electric vehicle 
 L¨²ì\ß ö\À G»Um›U öÁQUQÒ 

(D) Feed cell electric vehicle 
 L¨¥k ö\À G»Um›U öÁQUQÒ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. Which Electric vehicle does not exist CO2 Emission? 
G¢u ªß\õμ ÁõPÚ® CO2 EªÌøÁ öÁÎ°hõx? 

(A) BEV (B) HEV 

 ¤.C.Â  ía.C.Â 

(C) FCEV (D) PHEV 
 G¨.].C.Â  ¤.ía.C.Â 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. Which compressor is used in electric vehicle air conditioning
system? 
G»Um›U ÁõPÚ Hº Psi\ß ]ìhzvß £¯ß£k® P®£μ\º Gx? 

(A) Low voltage electric compressor 
 SøÓ¢u ªßÚÊzu G»Um›U P®£μ\º 

(B) Motor driven compressor 

 ÷©õmhõº i›Áß P®£μ\º   

(C) Belt driven compressor 
 ö£Àm i›Áß P®£μ\º 

(D) High voltage electric inverter compressor 
 Av ªßÚÊzu G»Um›U CßöÁºmhº P®£μ\º   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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81. How much efficiency for Electric vehicle battery. Compare to IC 
engine vehicle battery?      
EÒ G› Gg]ß Ási ÷£mh›²hß J¨¤k® ÷£õx G»Um›U ÁõPÚzvß 
÷£mh›°ß vÓß  

(A) 60% (B) 80% 

(C) 100% (D) 75% 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. What are the two basic types of controllers? 
Pßm÷μõ»›ß Cμsk Ai¨£øh ÁøPPÒ GßÚ? 

(A) Mechanical and chemical unit 
 ö©UPÛUPÀ ©ØÖ® öPªUPÀ ³Ûm 

(B) Mechanical and electrical units 

 ö©UPÛUPÀ ©ØÖ® G»Um›UPÀ ³Ûm   

(C) Electronics and electro mechanical unit 
 G»UmμõÛUì ©ØÖ® G»Um÷μõ ö©UPõÛUPÀ ³Ûm 

(D) Electronics and computer units 
 G»UmμõÛUì ©ØÖ® P®¨³mhº  ³Ûmì  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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83. What is the function of over running clutch in the starting system? 
ìhõºi[ ]ìhzvÀ KÁº μßÛ[ QÍma&ß ÷Áø» GßÚ? 

(A) Protect armature from damage 
 Bºö©a`º ÷\u©øhÁv¼¸¢x £õxPõzuÀ 

(B) Operate the solenoid 

 ö\õ¼Úõ´k&I C¯USuÀ   

(C) Drive the armature shaft 
 Bºö©a`º \õ¨m&I C¯USuÀ 

(D) Prevent sliding movement of pinion 
 ¤Û¯ß&ß |ÊÄ C¯UPzøu ukzuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. What is the function of diodes? 
h÷¯õkPÎß ÷Áø» GßÚ? 

(A) Convert AC to DC  

 AC&I DC&BP ©õØÖQÓx 

(B) Step up voltage 

 ÷ÁõÀ÷hä&I AvP¨£kzxQÓx 

(C) Convert DC to AC  

 DC&I AC BP ©õØÖQÓx 

(D) Step down voltage 
 ÷ÁõÀ÷hä&I SøÓUQÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Which device have the ability to store electrical charge? 
G»Um›UPÀ \õºä&I ÷\ªUS® vÓß öPõsh \õuÚ® Gx? 

(A) Capacitor (B) Resistor 

 öP¨£õ]hº  öμ]ìhº 

(C) Insulator (D) Conductor 
 Cß_÷»mhº  PßhUhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. A motor converts Electrical Energy in to ———————? 
ªß BØÓø» J¸ ÷©õmhμõÚx ©õØÖÁx 

(A) Potential Energy (B) Magnetic Energy 

 {ø» BØÓ»õP  Põ¢u BØÓ»õP 

(C) Chemical Energy (D) Mechanical Energy 
 ÷Áv BØÓ»õP  C¯¢vμ BØÓ»õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. Unit of measurement of resistance in electrical circuit 
ªß _ØÔÀ ªßuøh AÍÂkÁuØPõÚ A»S 

(A) volt (B) ampere 

 ÷ÁõÀm  B®¤¯º 

(C) ohm (D) mm 
 K®  ª.« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. What is the function of solenoid switch? 
ö\õ¼Úõ´k _Âm]ß ÷Áø» GßÚ? 

(A) Open and close the circuit between primary and secondary 
 ¤øμ©› ©ØÖ® ö\Psh› \ºU³møh ‰hÄ® vÓUPÄ® ö\´uÀ 

(B) Step down voltage from primary to secondary winding 

 ¤øμ©› øÁsi[Q¼¸¢x ö\Psh› øÁsi[QØS ÷ÁõÀöhä 
ìöh¨ hÄß ö\´uÀ   

(C) Close the contact between battery and starting motor 
 ÷£mh› ©ØÖ® ìhõºmi[ ÷©õmhõº Cøh÷¯ öuõhºø£ CønzuÀ 

(D) Shift the lever to engage the plunger 
 ¨Í[Pøμ öuõhº¦£kzu ¼Áøμ ]¨m ö\´uÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. What Gas is filled in safety air bag balloons? 
£õxPõ¨¤ØPõÚ Hº ÷£U £¿ÛÀ {μ¨£¨£mi¸US® Áõ² GßÚ? 

(A) Oxygen (B) Sodium 

 BUêáß  ÷\õi¯® 

(C) Nitrogen (D) Hydrogen 
 ø|mμáß  øímμáß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. Which conductor is used in underground cables? 
uøμUS Ai°À ö\À¾® ÷P¤ÒPÎÀ G¢u Phzv E£÷¯õP¨£kzu¨£kQÓx? 

(A) Tin (B) Copper 

 öÁÒÏ¯®  uõªμ® 

(C) Lead (D) Farad 
 PõŸ¯®  L£õμm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. Ohms Law formula 
K® Âv°ß Áõ´¨£õk 

(A) IRV =  (B) 
V
I

R =  

 IRV =   
V
I

R =  

(C) 
V
R

I =  (D) 
R
I

P =  

 
V
R

I =   
R
I

P =  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. The output of an alternator is controlled by  
BÀhº÷Úmh›ß AÄm¦m Pmk¨£kzxÁx CuÚõÀ 

(A) Slip ring (B) Regulator 

 ì¼¨ ›[  öμS÷»mhº 

(C) Rotor (D) Stator 
 ÷μõmhõº  ì÷hmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. The most accurate timer for Electronic ignition system is the 
G»UmμõÛU CUÛ\ß ]ìhzvÀ ªP xÀ¼¯©õÚ ÷|μzøu öPõk¨£x   

(A) Pulse generator (B) Transister 

 L¨£Àì öáÚ÷μmhº  iμß]ìhº 

(C) Diode (D) Hall effect switch 
 øh÷¯õk  íõÀ G£Um _Âma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. Engine starter motoring 
Gßâß ìhõºhº ÷©õmhõº G¢u ÁøP? 

(A) Single phase AC motor (B) DC series motor 

 ][SÒ ÷£ì G] ÷©õmhõº  i] ]›¯ì ÷©õmhõº 

(C) DC shunt motor (D) DC compound motor 
 i] – åsmk ÷©õmhõº  i] – Põ®£Äsm ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. Specific resistance of copper is 
Põ¨£º E÷»õPzvß J¨£hºzv GßÚ? 

(A) 1.64 Ωμ  cm (B) 9.8 Ωμ  cm 

 1.64 Ωμ  ö\«  9.8 Ωμ  ö\« 

(C) 1.72 Ωμ  cm (D) 7.8 Ωμ  cm 
 1.72 Ωμ  ö\«  7.8 Ωμ  ö\« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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96. Foam type fire extinguisher used for which class fire 
~øμ w¯øn¨£õß G¢u ÁøP w&ø¯ AønUP £¯ß£kQÓx 

(A) A – Class (B) B – Class 

 A – ÁøP  B – ÁøP 

(C) D – Class (D) E – Class 
 D – ÁøP  E – ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

97. In which part to control the unburned gas in vehicle before exhaust?
ÁõPÚzvÀ G›UP¨£hõu Áõ²UPøÍ öÁÎ÷¯ØÖ® •ß Pmk¨£kzx® 
£Sv Gx? 

(A) Catalytic convertor (B) Exhaust valve 

 ÷Pmh¼miU PßöÁºmhº  öÁÎ÷¯ØÖ® ÁõÀÄ 

(C) Muffler (D) Exhaust pipe 
 ©¨Íº  öÁÎ÷¯ØÖ® SÇõ´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. Generally in workshop the following equipments are used 
ö£õxÁõP öuõÈØ\õø»°À ¤ßÁ¸® E£Pμn[PÒ £¯ß£kzu¨£kQßÓÚ

(A) Fork lifter (B) Trolly 

 L÷£õºU ¼¨hº  iμõ¼ 

(C) Small crane (D) All of these 
 ]Ô¯ Q÷μß  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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99. How to avoid dust and metal particles from various parts and
equipments of vehicle 
ÁõPÚ[PÎß £À÷ÁÖ £õP[PÒ ©ØÖ® E£Pμn[PÎÀ C¸¢x Á¸® y] 
©ØÖ® xPÒPøÍ GÆÁõÖ uÂº¨£x 

(A) Avoid vehicle’s 
 ÁõPÚ[PøÍ uÂºzuÀ  

(B) Maintain the distance 

 ÷£õv¯ CøhöÁÎø¯ Pøh¤izuÀ    

(C) Periodical maintenance  
 \›¯õÚ Põ» CøhöÁÎ°À \õuÚ[PøÍ £μõ©›zuÀ 

(D) Wear mask 
 •P‰i AouÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. The ‘B’ class fire means 
‘B’ ÁøP w Gß£uß ö£õ¸ÍõÚx 

(A) Electric fire (B) Oil fire 

 ªß\õμ w  B°À w 

(C) Wood fire (D) Coal fire 
 ©μ® w  {»UP› w 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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101. Which equipment is to support under lifting vehicle before working
under the vehicle for safe work? 
ÁõPÚzvß RÌ £Sv°À £õxPõ¨£õP ÷Áø» ö\´²® •ß£õP ÁõPÚzøu 
E¯ºzv \¨÷£õºm öPõkUP¨£k® \õuÚ® Gx? 

(A) Stand (B) Slings chain 

 ì÷hsk  ì¼[ ö\°ß 

(C) Lifting crane (D) Hydraulic jack 
 ¼¨i[ Q÷μß  øímμõ¼U áõU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

102. Which item is to be eliminated to prevent fire? 
w £μÄÁøu uk¨£uØS GÁØÔøÚ }UP ÷Ásk®? 

(A) Oxygen (B) Nitrogen 

 BU]áß  ø|mμáß 

(C) CO2 (D) Argon 
 Põº£ß øh BUø\k  BºPõß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. Which type of the fire extinguisher un  suitable for electric fire? 
ªß\õμ w&US G¢u ÁøP w&Aøn¨£õß ö£õ¸zu©ØÓx. 

(A) CO2 (B) CTC 

 CO2  CTC 

(C) FOAM (D) Dry Powder 
 ~øμ  E»º £Ähº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. Which device is best for control toxic waste? 
|a_zußø© Áõ´¢u PÈøÁ Pmk¨£kzu G¢u \õuÚ® ªP \›¯õÚuõP 
C¸US®? 

(A) Wire brush (B) Cotton waste 

 J¯º ¤μì  Põmhß ÷Áìm 

(C) Air compressor (D) Vacuum cleaner 
 Hº P®¨μéº  ÁõU³® QÎÚº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. In which year did First AID treatment begin 
G¢u BsiÀ •u¾uÂ ]Qaø\ öuõh[Q¯x 

(A) 1823 (B) 1863 

(C) 1900 (D) 1923 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. What does the (Bxxxx) ‘B’ in the repair mark (Scan tool letter code)
number stand for? 
ì÷Pß l¼ß SÔ Gs (STLC) £Êx SÔ GsoÀ (Bxxxx) ‘B’ Gß£x 
Gøu SÔUQÓx? 

(A) Indicates board (B) Indicates body 

 ÷£õºøh SÔUQÓx  £õi&ø¯ SÔUQÓx 

(C) Indicates booster (D) Indicates bell 
 §ìhº&I SÔUQÓx  ö£Àø» SÔUQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



437-Mechanic Motor Vehicle  
 

46

107. Which modules controls the engine and vehicles performance in the
vehicle service Information System?   
ÁõPÚzvß \ºÃì Cß£õº÷©åß ]ìhzvÀ G¢u ©õlÀ Gßâß ©ØÖ® 
ÁõPÚzvß ö\¯ÀvÓøÚ Pmk¨£kzxQÓx? 

(A) ECM (B) VCM 

(C) PCM (D) BCM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. What is the function of ‘TCM’ as an Electronic Control Unit (ECU)? 
G»UmμõÛU Pßm÷μõÀ ³Ûm (ECU) ÁøPPÎÀ TCM &ß ÷Áø» GßÚ? 

(A) Control the power from the engine to the gear box  
 GßâÛ¼¸¢x Q¯º £õUì Áøμ £Áøμ Pmk¨£kzxQÓx  

(B) Control power from the engine to the Axle joint 

 GßâÛ¼¸¢x BU]À áõ°sm Áøμ £Áøμ Pmk¨£kzxQÓx  

(C) Control power from the engine to the wheel 
 GßâÛ¼¸¢x ÃÀ Áøμ £Áøμ Pmk¨£kzxQÓx  

(D) Control the power from the engine to the clutch 
 GßâÛ¼¸¢x QÍma Áøμ £Áøμ Pmk¨£kzxQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. What is the extension of ‘PCM’ in vehicle service Information
System in terms of ECU? 
ÁõPÚzvß \ºÃì Cß£º÷©åß ]ìhzvß ECU ÁøPPÎÀ ‘PCM’
Gß£uß Â›ÁõUP® GßÚ? 

(A) Power capacity modules 
 £Áº öP£õêmi ©õlÀ  

(B) Power cell modules 

 £Áº ö\À ©õlÀ 

(C) Power come control modules  
 £Áº P® Pßm÷μõÀ ©õlÀ 

(D) Power drain control modules 
 £Áº iøμ°ß Pßm÷μõÀ ©õlÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. In which website can you find the full details of vehicle registration
number. 
ÁõPÚ £vÄ Gsøn øÁzx Auß •Ê uPÁÀPøÍ²® G¢u Cøn¯ 
uÍzvß ‰»® PshÔ¯»õ®.  

(A) Vehicle company (B) Vehicle information 

(C) VAHAN RTO India (D) Vehicle Registration 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. What does (600132 CT2P78900) ‘78900’ stand for in the chassis
frame Axle given here? (INDICA CAR) 
C[S öPõkUP¨£mkÒÍ ÷\ì ¤÷μ® Ba]¼À/(600132 CT2P78900) 
‘78900’ Gß£x Gøu SÔUQÓx. (CsiPõ Põº) 

(A) Chassis No (B) Engine No 

 ÷\]ì Gs  Gßâß Gs 

(C) Model No (D) Vehicle No 
 ©õhÀ Gs  ÁõPÚ Gs 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. Black border with triangle symbols on yellow back ground shapes
are  
©g\Ò {Ó ¤ß£»zvÀ PÖ¨¦ {Ó £õºh¸hß Ti¯ •U÷Põn ÁiÁ 
SÔ±kPÎß ]ßÚ[PÒ EnºzxÁx. 

(A) Prohibition signs (B) Mandatory signs 

 uøh EzuμÄa ]ßÚ[PÒ  PmhøÍa ]ßÚ[PÒ 

(C) Warning sign (D) Information signs 
 Ga\›UøP ]ßÚ[PÒ  uPÁÀ ]ßÚ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

113. What is the validity for international driving license? 
\ºÁ÷u\ Kmk|º E›©® ö\À¾£i¯õS® Põ» Áμ®¦ GßÚ? 

(A) 2 years (B) 3 years 

 2 BskPÒ  3 BskPÒ 

(C) 1 year (D) 5 years 
 1 Bsk  5 BskPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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114. What form will the ‘Regulatory signs’ take? 
EzuμÄ ]ßÚ[PÒ G¢u ÁiÁzvÀ C¸US®. 

(A) Circle (B) Square 

 Ámh ÁiÂÀ  \xμ ÁiÂÀ 

(C) Rectangle (D) Triangle 
 ö\ÆÁP® ÁiÂÀ  •U÷Põn® ÁiÂÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. Why are two consecutive yellow lines on the road? 
\õø»°À öuõhºa]¯õÚ Akzukzu C¸ ©g\Ò ÷PõkPÒ GuØPõP 
Áøμ¯¨£mkÒÍx? 

(A) The vehicle stop and go 
 ÁõPÚ® {Özv ö\À» ÷Ásk®  

(B) Do not overtake the vehicle 

 ÁõPÚ® •¢v ö\À» Thõx   

(C) The vehicle must overtake 
 ÁõPÚ® •¢v ö\À» ÷Ásk®  

(D) Think of it as a wall 
 J¸ _ÁμõP {øÚzx öPõÒÍ ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. B.S.F. screw thread have the included angle of 
B.S.F. ©øμPÎß ÷Põn©õÚx ö£õxÁõP 

(A) 30° (B) 45° 

(C) 55° (D) 60° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. Which one of the following is used for permanent fastening? 
öPõkUP¨£mkÒÍÁØÔÀ G¢u JßÓõÚx {μ¢uμ Cøn¨¦UPõÚuõS®? 

(A) Key (B) Rivet 

 R  ›Âm 

(C) Cottor (D) Screw 
 Põmhº  ìS¹ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Complete vehicle without body is called as  
£õi CÀ»õu •Êø©¯õÚ ÁõPÚ® —————— GÚ AøÇUP¨£kQÓx. 

(A) Frame (B) Unibody frame 

 ¤÷μ®  ²Û£õi ¤÷μ® 

(C) Chassis (D) Conventional frame  
 ÷\êì  PßöÁß\ÚÀ ¤÷μ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. The angle of I.S. thread (V-shaped) is 
I.S. ©øÓ°ß (V&ÁiÁ®) ÷Põn©õÚx 

(A) 29° (B) 47½°  

(C) 50° (D) 60° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. Name the tap wrench used in the restricted place  
ö|¸UPi¯õÚ Ch[PÎÀ £¯ß£kzu¨£k® ÷h¨ öμg]ß ö£¯º 

(A) Box type tap wrench 
 £õUì øh¨ ÷h¨ öμga  

(B) ‘T’ handle tap wrench 

 ‘T’ ÷ísiÀ ÷h¨ öμga   

(C) Solid type tap wrench  
 \õ¼m øh¨ ÷h¨ öμga 

(D) Double ended adjustable tap wrench 
 h¦Ò Gß÷hm Aáìh£Ò ÷h¨ öμga 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. How the drill chucks are held on the machine spindle?  
i›À¼[ ö©æß ì¤ßi¼À i›À \UPì Auß G¢u £õPzuõÀ 
¤iUP¨£kQÓx? 

(A) By arbor (B) By sockets 

 Bº¨£μõÀ  \õUöPm&PÍõÀ 

(C) By sleeve (D) By special clamp 
 ì½Æ&PÍõÀ  ]Ó¨¦ ÁøP QÍõ®¦ ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. What is the advantage of centre screw in die stock? 
ö\ßhº ìU¹ øh ìhõUQß |ßø© GßÚ? 

(A) To tighten the die 
 øhø¯ C¸UQ ¤iUP  

(B) To adjust the depth of cut 

 Pm Gk¨£uß BÇzøu Amáìm ö\´¯   

(C) To adjust the dia of internal thread 
 EÒ©øÓ Âmhzøu Amáìm ö\´¯  

(D) To adjust the dia of external thread 
 öÁÎ©øÓ°ß Ámhzøu Amáìm ö\´¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. What is the reason for rough holes in drilling? 
xøÍ°k® ÷£õx ö\õμ ö\õμ¨£õÚ (rough) £μ¨¦ HØ£hU Põμn® GßÚ? 

(A) Unequal point thinning 
 \©ªÀ»õ •øÚ AÍÄ  

(B) Drill point not in centre 

 i›À •øÚ ø©¯zvÀ CÀ»õux   

(C) Clearance angle is incorrect 
 QÎ¯μßì ÷Põn® \›°À»õux  

(D) Drill cutting edges are not sharp 
 i›À¼ß öÁmk •øÚ ©Ê[Q C¸¨£x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. Which portion of the reamer is reduced in diameter below the
cutting edge? 
Ÿ©›ß G¢u £Sv¯õÚx Pmi[ Gmäâß Âmhzøu Âh SøÓÁõP 
C¸US®? 

(A) Body (B) Recess 

 £õi  Ÿ\ì 

(C) Shank (D) Bevel lead 
 ÷å[U  ö£ÁÀ ½k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. The other name of wings nut 
Â[Uì |miß ©ØöÓõ¸ ö£¯º GßÚ? 

(A) Penning nut (B) Swan nut 

 ö£ßÛ[ |m  ìÁß |m 

(C) Symonds lock nut (D) Lock nut 
 ø\©ßmì »õU |m  »õU |m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. What is the angle of ACME thread? 
BUª vöμmß ÷Põn® GßÚ? 

(A) 29° Degree (B) 45° Degree 

 29° iQ› ÷Põn®  45° iQ› ÷Põn® 

(C) 55° Degree (D) 60° Degree 
 55° iQ› ÷Põn®  60° iQ› ÷Põn® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. Which nut can be easily operated with thumb and finger? 
G¢u |møh Pmøh ÂμÀ ©ØÖ® Âμ»õÀ GÎuõP PÇØÓ/•kUP •i²®? 

(A) Capstan nut (B) Dome nut 

 ÷P¨ìhß |m  l® |m 

(C) Wing nut (D) Lock nut 
 Â[ |m  »õU |m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. Another name of circular split die 
\ºS»º ì¤Îm øh°øÚ CÆÁõÖ® AøÇUP»õ®? 

(A) Half die (B) Butten die 

 íõÀ¨ øh  £mhß øh 

(C) Die nut (D) Adjustable screw plate die 
 øh |m  Amáìh£Ò ìS¹ ¤÷Ím øh

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. Which type of Calipers is easy fine adjustment? 
G¢u ÁøP Põ¼¨£º ø£ß Amáì©ßm ö\´Áx _»£®? 

(A) Firm Joint Caliper (B) Spring Joint Caliper 

 ¤›® áõ°ßm Põ¼¨£º  ì¤›[ áõ°ßm Põ¼¨£º 

(C) Odd leg Caliper (D) Leg and point Caliper 
 JØøÓ ö»U Põ¼¨£º  ö»U ©ØÖ® £õ°ßm Põ¼¨£º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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130. What is the smallest reading of vernier caliper? 
öÁºÛ¯º Põ¼£›ß SøÓ¢u£m\ AÍÄ Gß£x GßÚ? 

(A) Deviation (B) Tolerance 

 iÂ÷¯åß  hõ»öμßì 

(C) Least count (D) Allowance 
 ½ìm PÄsm  A»öÁßì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

131. Which hand tool used for circular cut in sheet metal work? 
G¢u øP P¸Â (^m ö©mhÀ JºU) ö©mhÀ ^møh ÁmhÁiÂÀ öÁmh 
£¯ß£kQÓx? 

(A) Straight sinp (B) Bend sinp 

 ìmöμ´m ìÛ¨  ö£sm ìÛ¨ 

(C) Combination plier  (D) Side cutting plier 
 Põ®¤÷Ú\ß ¤øÍ¯º  ø\k Pmi[ ¤øÍ¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. Least count of steel rule is  
ìjÀ ¹¼&ß SøÓ¢u£m\ AÍÄ 

(A) 0.1 mm (B) 0.05 mm 

(C) 0.01 mm (D) 0.5 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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133. Which gauge used to check leakage of inlet manifold? 
Cßö»m ÷©ÛL÷£õÀiß P]Ä G¢u ÷Pä £¯ß£kzv 
£›÷\õvUP¨£kQÓx? 

(A) Feeler gauge (B) Emission gauge 

 L¥Íº ÷Pä  Gª\ß ÷Pä 

(C) Pressure gauge (D) Vacuum gauge 
 ¤μåº ÷Pä  ÁõU³® ÷Pä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. In a metric micrometer a complete revolution of thimble divisions 
are  
ö©m›U ø©U÷μõ «mh›À EÒÍ v®¤Ò iÂåÛÀ J¸ •Ê _ØÔß 
AÍÁõÚx 

(A) 1.00 mm (B) 0.01 mm 

(C) 0.25 mm (D) 0.50 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

135. Which part of universal surface gauge holds the scriber? 
²ÛÁºö\À \º÷£ì ÷PâÀ ìQøμ¨£øμ G¢u £õP® ¤izxU öPõskÒÍx?

(A) Snug (B) Guide pin 

 ìÚU   øPk ¤ß 

(C) Rocker Arm  (D) Fine adjustment screw 
 μõUPº Bº®  ø£ß Amöáìö©ßm ìS¹ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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136. Which type of vice used for holding hollow cylindrical jobs? 
EÒÏhØÓ E¸øÍ¯õÚ ö£õ¸øÍ ¤iUP G¢u ÁøP øÁì £¯ß£kQÓx? 

(A) Pin vice (B) Pipe vice 

 ¤ß øÁì  ø£¨ øÁì 

(C) Hand vice (D) Bench vice 
 ÷ísm øÁì  ö£ga øÁì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

137. Which part of universal surface gauge is used to set scriber at
required position exactly? 
²ÛÁº\À \ºL÷£ì ÷PâÀ ìQøμ£øμ \›¯õÚ {ø»°À {ÓzxÁuØS G¢u 
£õP® £¯ß£kQÓx? 

(A) Snug (B) Guide Pin 

 ìÚU  øPk ¤ß 

(C) Rocker Arm (D) Fine adjustment screw 
 μõUPº Bº®  ø£ß Amáìm÷©sm ìS¹ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. Which part of vernier micrometer is marked with vernier scale 
graduation? 
öÁºÛ¯º ø©U÷μõ «mh›À öÁºÛ¯º AÍÄ G¢u £õPzvÀ 
SÔUP¨£mi¸US®? 

(A) Anvil (B) Frame 

 BßÂÀ  ¤÷μ® 

(C) Thimble (D) Barrel 
 v®¤Ò  ÷£μÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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139. Which gauge is used to compare the profile of thread? 
©øμ/vμmiß ÁiÁø©¨ø£ Põn G¢u ÷Pä £¯ß£kzu¨£kQÓx? 

(A) Plug gauge (B) Feeler gauge 

 ¨ÍU ÷Pä  L¤»º ÷Pä 

(C) Radius gauge (D) Screw pitch gauge 
 ÷μi¯ì ÷Pä  ìS¹ ¤mä ÷Pä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. What is the shape of interchangeable anvils used in screw thread
micrometer? 
ìS¹ vöμm ø©U÷μõ «mh›À G¢u ÁiÁ BßÂÀPÒ £¯ß£kQÓx? 

(A) Square shape (B) ‘V’ shape 

 \xμ ÁiÁ®  “Ã” ÁiÁ® 

(C) Circular shape (D) Parallel shape  
 Ámh ÁiÁ®  Cøn¯õÚ ÁiÁ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. What is the purpose of radiator in the cooling system? 
T¼[ ]ìhzvÀ ÷μi÷¯mh›ß £¯ß GßÚ? 

(A) Cool the hot air (B) Cool the hot oil 

 `hõÚ PõØøÓ SÎºÂzuÀ  `hõÚ B°ø» SÎºÂzuÀ 

(C) Cool the hot water (D) Cool the water pump 
 `hõÚ uspøμ SÎºÂzuÀ  Áõmhº £®ø£ SÎºÂzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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142. Dilution of lubricating oil is caused by  
¿¨›÷Pmi[ B°À }º© ußø© AøhÁuØS —————— Põμn® 

(A) Water 
 }º  

(B) Solid contaminated like dust 

 y]÷£õßÓ vh P\k   

(C) Fuel  
 G›ö£õ¸Ò 

(D) Worn of partical 
 ]Ö xPÒ ÷\¸uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. In water pump, when the impeller rotates, it draws water from the
radiator  
Áõmhº £®¤À Cß¤À»º _ÇßÖ ÷μi÷¯mh›ß —————— À C¸¢x 
}º&I CÊUQÓx. 

(A) Upper tank (B) Side tank 

 ÷h[U ÷©÷»  ø\k ÷h[U 

(C) Lower tank (D) Expansion tank 
 ÷h[U RÌ  GUì÷£ß\ß ÷h[U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. Which method is used to transfer the heat Air Cooling System? 
Hº (PõØÖ) T¼[ ]ìhzvÀ G¢u •øÓ°À öÁ¨£® Phzu¨£kQÓx. 

(A) Radiation (B) Convection 

 PvºÃa_  öÁ¨£ \»Ú® 

(C) Conduction (D) Evaporation 
 öÁ¨£UPhzuÀ  BÂ¯õSuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. Two types of oil filtering systems are used in automobile engines
there are 
Bm÷hõö©õø£À CßâßPÎÀ £¯ß£k® Cμsk ÁøP¯õÚ B°À 
¤Àh›[ ]ìh©õÚx 

(A) Full flow and bypass flow  
 L¦Ò ¨÷Íõ ©ØÖ® ø££õì ¨÷Íõ 

(B) Open and closed 

 vÓ¢u ©ØÖ® ‰i¯ {ø» 

(C) Low pressure and high pressure 
 SøÓ¢u AÊzu® ©ØÖ® AvP AÊzu® 

(D) Full flow and flow through 
 L¦Ò ¨÷Íõ ©ØÖ® ¨÷Íõ z¹Æ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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146. Low engine oil pressure may be due to 
Cßâß B°¼ß AÊzu® SøÓÁõP C¸¨£x CuÚõÀ 

(A) Clogged oil filter 
 B°À L¤Àh›À Aøh¨¦  

(B) More oil in the sump 

 \®¤À AvP©õÚ B°ø» {μ¨¤°¸zuÀ  

(C) Used in high viscosity oil 
 £õSzußø© AvP•ÒÍ B°ø» £¯ß£kzxuÀ  

(D) Excessive back lash between oil pump gears 
 B°À £®¤À Q¯¸PÐUQøh÷¯ ÷£U »õì AvP® C¸zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. The purpose of the fan in an engine cooling system is to 
Cßâß T¼[ ]ìhzvÀ L÷£Ûß £¯ß 

(A) Increase flow of coolant 
 uspº/T»siß _ÇØ]ø¯ AvP¨£kzxQÓx  

(B) Draw air through the radiator 

 ÷μi÷¯mhº ÁÈ¯õP PõØøÓ CÊUQÓx   

(C) Cool the engine by blowing air over it 
 PõØøÓ ö\¾zv CßâøÚ SÎºÂUQÓx  

(D) Provide drive to the water pump 
 Áõmhº £®ø£ C¯UP ö£õ¸zu¨£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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148. The principle of a radiator an engine cooling system is to 
Cßâß T¼[ ]ìhzvÀ Aø©¢xÒÍ ÷μi÷¯mh›ß öPõÒøP¯õÚx 

(A) Act as a reservoir for the water  
 uspøμ ÷\ªUS® P»ÚõP ö\¯À£kÁx  

(B) Cause a heat flow by convection 

 \»Ú® Põμn©õP öÁ¨£zøuU PhzxÁx  

(C) Spread out the hot water over a large area 
 AvP £μ¨£ÍÂÀ `hõÚ uspøμ Gkzxa ö\ÀÁx  

(D) Increase the air speed as it flows over the hot surface 
 `hõÚ £μ¨¤ß «x ÷ÁP©õÚ PõØøÓ £ha ö\´Áx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

149. How many pumping element is a CRDI high pressure pump? 
CRDI øí ¤μåº £®¤À GzuøÚ £®¤[ G»ö©skPÒ C¸US®? 

(A) 1 (B) 2 

(C) 3 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. Where is located of low pressure feed pump in CRDI engines? 
CRDI Cßâß&À ÷»õ ¤μåº L¥k £®¨ BÚx G[÷P ö£õ¸zu¨£kQÓx?

(A) On the fuel filter (B) On the fuel injection pump 

 L¤³À ¤Àh›À  L¤³À CßöáU\ß £®¤À 

(C) In the fuel tank (D) On the engine block 
 L¤³À ÷h[&À  Gßâß ¤ÍõU&À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. Generally, the feed pumps in diesel engines are driven by  
ö£õxÁõP j\À CßâßPÎÀ EÒÍ L¥k £®¦PÒ C¯UP® ö£ÖÁx 
Cuß ‰»® 

(A) Camshaft of engine (B) Camshaft of FIP 

 Cßâß ÷P®åõ¨m  FIP ß ÷P®åõ¨m 

(C) Timing gears  (D) Crankshaft of engine 
 øhª[ Q¯ºPÒ  Cßâß Qμõ[U åõ¨m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. A drain plug in the fuel tank is provided? 
L¤³ÁÀ ÷h[QÀ iöμ°ß ¤ÍU Aø©¨£x 

(A) To fill the fuels (B) To collect the fuel sediment 

 L¤³ÁÀ {μ¨¦uÀ  L¤³ÁÀ ö\iö©søh Pö»Um

(C) To drain the fuels  (D) To outlet the air  
 L¤³ÁÀ ÁiPmkuÀ  PõØøÓ öÁÎ÷¯ØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. How much pressure develop the CRDi diesel engine pump? 
CRDi Gßâß j\À öuÎUS® AÊzu® GÆÁÍÄ ¤μåº EØ£zv 
ö\´QÓx? 

(A) 100 – 200 bar (B) 200 – 600 bar 

(C) 600 – 1000 bar (D) 1000 – 1600 bar 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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154. Which meter used for to measure the BHP? 
BHP&I AÍUP G¢u «mhº £¯ß£kQÓx? 

(A) Multi meter (B) Tacho meter 

 ©Ài «mhº  ÷hU÷Põ «mhº 

(C) Oscilloscope (D) kWh - meter 
 Oscilloscope  kWh - «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. Which one of the following drives the fuel feed pump? 
¤ßÁ¸ÁÚÁØÖÒ G¢u JßÖ ¨³ÁÀ ¥k £®¨ I C¯USQÓx? 

(A) Engine fly wheel (B) F.I.P. camshaft 

 Cßâß ¤øÍÃÀ  F.I.P. ÷P®\õ¨m 

(C) Timing gear (D) Engine crankshaft 
 øhª[ Q¯º  Gßâß Qμõ[\õ¨m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. What are the reason for pre-ignition in petrol engine? 
ö£m÷μõÀ GßâÛÀ Pre-ignition HØ£h •UQ¯ Põμn® GßÚ? 

(A) Carbon deposit in combustion chamber  

 G› AøÓ°À Põº£ß £i¢x C¸zuÀ   

(B) Improper timing 

 uÁÓõÚ øhª[   

(C) Improper air fuel mixture  
 uÁÓõÚ G›ö£õ¸Ò P»øÁ    

(D) All of these  
 CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. The most widely used engine type  
ªPÄ® £μÁ»õP £¯ß£kzu¨£k® Gßâß ÁøP  

(A) In line engine (B) ‘V’ type engine 

 Cß ø»ß Gßâß  ‘V’ øh¨ Gßâß 

(C) Radial type engine (D) Opposed type engine 
 ÷μi¯À øh¨ Gßâß  B¨÷£õìk øh¨ Gßâß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. What are the commonly used dwell angle for 4 cylinder engine? 
4 ]¼shº CßâÛÀ öhÍÁÀ B[QÀ GÆÁÍÄ? 

(A) 48° – 52° (B) 20° – 28° 

(C) 30° – 40° (D) 40° – 45° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



437-Mechanic Motor Vehicle  
 

66

159. Which part of the piston is subjected to high pressure and
temperature? 
¤ìhÛß G¢u £õP©õÚx E¯º AÊzuzvØS®, öÁ¨£ {ø»US® 
Em£kzu¨£kQÓx? 

(A) Skirt (B) Ring section  
 ìPºm  ›[ ö\Uéß 

(C) Land (D) Crown 
 ÷»sm  QμÄß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. A 4-stroke engine produces on power stroke in ? 
J¸ |õßS Ãa_ CßâÛÀ J¸ BØÓÀ Ãa_ GzuøÚ _ØÖPÎÀ 
E¸ÁõQÓx? 

(A) Two revolutions of crank soft  

 Qμõ[U åõ¨iß Cμsk _ØÖPÎÀ   

(B) Four revolutions of crank soft 

 Qμõ[U åõ¨iß |õßS _ØÖPÎÀ     

(C) Three revolutions of crank soft  
 Qμõ[U åõ¨iß ‰ßÖ _ØÖPÎÀ     

(D) One revolutions of crank soft 
 Qμõ[U åõ¨iß J¸ _ØÖPÎÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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161. Which part of two stroke engine port open and close by  
Cμsk ìm÷μõU Gßâß ÷£õºmkPøÍ ‰i, vÓUPUTi¯ £õP® Gx? 

(A) Crank shaft (B) Piston  
 Qμõ[U åõ¨m  ¤èhß 

(C) Cam shaft (D) Valve 
 ÷P® åõ¨m  ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

162. In the engine exhaust system, which one of the part is make the
special design for reduce sound and heat?  
Cßâß GUéõìm ]ìhzvÀ G¢u £õP©õÚx \¨uzøu²®, öÁ¨£zøu²® 
SøÓUS® Ásn® ]Ó¨£õP ÁiÁø©UP¨£mi¸US®. 

(A) Manifold (B) Neck pipe 

 ö©ÛL÷£õÀk  ö|U ø£¨ 

(C) Muffler (D) Tail pipe 
 ©L¨Íº  öh°À ø£¨ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. Which type of clutch used in the two wheeler? 
C¸ \UPμ ÁõPÚ[PÎÀ G¢u ÁøP¯õÚ QÍma £¯ß£kzu¨£kQÓx? 

(A) Single plate clutch (B) Multi plate clutch 

 ][QÀ ¤÷Ím QÍma  ©Ài ¤÷Ím QÍma 

(C) Dog clutch (D) Semi centrifugal clutch  
 hõU QÍma  ö\ª ö\ßm›L¦PÀ QÍma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. The clutch linings used in clutch plate assembly has to withstand  
QÍma ¤÷Ím Aö\®Î°À £¯ß£kzu¨£k® QÍma ø»Û[ BÚx 
_________ I uõ[PUTi¯x.  

(A) high pressure (B) high temperature  
 AvP AÊzu®  AvP öÁ¨£{ø» 

(C) high force (D) high torque 
 AvP Âø\  AvP v¸¨¦vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Which gear in the gear box is changed in direction in reverse speed?
Q¯º £õUì&À EÒÍ G¢u Q¯›ÚõÀ ›Áºì ì¥kUS vø\ ©õØÓ® 
ö\´¯¨£kQÓx? 

(A) Lay shaft gear (B) Main shaft gear 

 ÷» \õ¨m Q¯º  ö©°ß \õ¨m Q¯º 

(C) Clutch shaft gear (D) Idle shaft gear 
 QÍma \õ¨m Q¯º  Ii¯À \õ¨m Q¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. Which part of the torque converter allows the stator to rotate in one
direction? 
hõºU PßöÁºmh›À ì÷hmhõº&I J÷μ vø\°À _Ç»a ö\´¯ AÝ©vUS® 
£õP® Gx? 

(A) Turbine (B) Impeller  
 hºø£ß  C®ö£À»º 

(C) Fly wheel (D) Over running clutch 
 ¤øÍ ÃÀ  KÁº μßÛ[ QÍma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Constant velocity joint of which angle of movement? 
Põßìhßm ÷Á»õ]mi áõ°sm G¢u ÷Põn AÍÂÀ _ÇÀQÓx? 

(A) 50° – 60° (B) 70° – 80° 

(C) 30° – 43° (D) 45° – 55° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. Which is the position transfer case operating lever used to power
take off ? 
£Áº ÷hU BL¨ £¯ß£kzx®ö£õÊx iμõßì£º ÷Pì B¨£÷μmi[ ½Áº 
G¢u {ø»°À C¸UP ÷Ásk®? 

(A) Neutral  

 {³mhμÀ   

(B) High ratio, Four wheel drive 

 AvP ÷μ]÷¯õ, |õßS ÃÀ C¯UP®   

(C) Low ratio, Four wheel drive  
 SøÓ¢u ÷μ]÷¯õ, |õßS ÃÀ C¯UP®   

(D) High ratio, Two wheel drive 
 AvP ÷μ]÷¯õ, Cμsk ÃÀ C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

169. Type of gear used in differential is  
i¨μßæ¯À Aø©¨¤À G¢u ÁøP Q¯º £¯ß£kQÓx? 

(A) Spur gear (B) Helical gear 

 ì£º Q¯º  öí¼UPÀ Q¯º 

(C) Bevel gear (D) Worm gear 
 ö£ÁÀ Q¯º  Áõº® Q¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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170. Approximately the clutch free play is  
÷uõμõ¯©õP QÍma L¨Ÿ ¤÷Í AÍÁõÚx? 

(A) 3 ′′  (B) 4 ′′  

(C) 
″

4
3

 (D) 
″

3
4

 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. How does a turbo charger get drive? 
G¢u •øÓ°À hõº÷£õ \õºáº C¯UP¨£kQÓx? 
(A) By belt     (B) By gear 
 ö£Àm BÀ      Q¯º ‰»® 
(C) By inlet gas      (D) By exhaust gas   
 FÔg_® PõØÓõÀ     öÁÎ÷¯ØÖ® PõØÓõÀ 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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172. Which sensor used to measure the magnitude of a magnetic field? 
Põ¢u ¦»zvß AÍøÁ AÍÂh G¢u ö\ß\õº £¯ß£kzu¨£kQÓx? 

(A) Engine knocking sensor  

 Cßâß |õUQ[ ö\ß\õº   

(B) Hall effect sensor 

 íõÀ Gö£Um ö\ß\õº   

(C) Voltage sensor  
 ÷ÁõÀ÷hä ö\ß\õº   

(D) Air vertex sensor  
 Hº ÷ÁºöhUì ö\ß\õº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

173. Which electronic control system prevent stalling of engine, when
additional load are placed on the engine?  
CßâÝUS Tku»õP ÷»õkPÒ öPõkUS®÷£õx Cg]ß, _ÇØ] 
{ßÖÂkÁøu G¢u G»UmμõÛU Pßm÷μõÀ ]ìh® ukUQÓx? 

(A) Idle speed control system  

 Ii¯À ì¥k Pßm÷μõÀ ]ìh®   

(B) Fuel pump control system 

 ¥³À £®¨ Pßm÷μõÀ ]ìh®     

(C) Ignition control system  
 CUÛ\ß Pßm÷μõÀ ]ìh®     

(D) Fuel injection control system 
 ¤³À CßöáU\ß Pßm÷μõÀ ]ìh®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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174. How much speed turbocharger by drive exhaust gases? 
hº÷£õ \õºáº GÆÁÍÄ ÷ÁPzvÀ C¯[SQÓx, GUéõìm ¦øP¯õÀ 
C¯UP¨£kQÓx? 

(A) 10,500 RPM (B) 2,80,000 RPM 

(C) 12,000 RPM (D) 15,000 RPM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

175. What is the materials of exhaust manifold? 
GUéõìm ÷©ÛL÷£õÀiß E÷»õP® GßÚ? 

(A) Brass (B) Bronze 

 ¤zuøÍ  öÁsP»® 

(C) Cast iron (D) Steel alloy 
 Áõº¨¤¸®¦  ìjÀ A»õ´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

176. Where is connected the accelerator pedal sensor?  
BUê»÷μmhº ÷£hÀ ö\ßéõ›ß G¢u ChzvÀ EÒÍx? 

(A) Variable resistance  (B) Near accelerator  
 ©õÖ£mh ªßuøh  BUê»÷μmhº A¸QÀ 

(C) Water Jacket  (D) Near fly wheels  
 Áõmhº áõUöPm  L¤øÍÂÀ A¸QÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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177. Throttle position sensor where fitted on engine? 
vμõmiÀ ö£õ]åß ö\ß\õº CßâÛÀ G[S ö£õ¸zu¨£mkÒÍx? 

(A) Inlet manifold (B) Exhaust manifold 

 Cß÷hU ö©Û÷£õÀk  GUéõìk ÷©Û÷£õÀk 

(C) Crank shaft (D) Cam shaft 
 Qμõ[ åõ¨m  ÷P® åõ¨m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. Where is the O2 sensor installed in the CRDI engine? 
CRDI CßâÛÀ O2 ö\ß\õº G[S Aø©UP¨£mkÒÍx? 

(A) Catlyte convertor (B) Inlet manifold 

 ÷Pmø»m PßöÁmhº  Cßö»m ÷©Û÷£õÀm 

(C) Common Rail (D) Cylinder Head 
 Põ©ß öμ´À  ]¼shº öím 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. Which sensor is used to alert the drive of unseen obstacles?  
\õø»PÎÀ öu›¯õu uøhPøÍ iøμÁ¸US Ga\›UøP ö\´¯ G¢u ö\ß\õº 
£¯ß£kzu¨£kQÓx? 

(A) Parking sensor (B) Pressure sensor 

 {Özxªh ö\ß\õº  AÊzu ö\ß\õº 

(C) Speed sensor (D) Torque sensor 
 ÷ÁP ö\ß\õº  hõºU ö\ß\õº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



437-Mechanic Motor Vehicle  
 

74

180. Where is fitted the lighting emitting diode sensor? 
ø»m Gªmi[ øh÷¯õk G¢u ö\ß\õ›À ö£õ¸zu¨£mkÒÍx? 

(A) Camshaft position sensor   

 ÷P®åõ¨m ö£õ]\ß ö\ß\õº   

(B) Engine temperature sensor 

 Ggâß öh®£μa\º ö\ß\õº   

(C) Crank shaft position sensor   
 Qμõ[ åõ¨m ö£õ]\ß ö\ß\õº   

(D) Air flow sensor  
 Hº L¨÷Íõ ö\ß\õº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. How ‘flow mode’ works in A/c system? 
H] ]ìhzvÀ ‘£õ²® {ø»’ GÆÁõÖ ÷Áø» ö\´QÓx? 

(A) Air is recirculated the cabin   

 ÷P¤ÛÀ EÒÍ PõØøÓ÷¯ ©Ö_ÇØ] ö\´¯¨£kQÓx   

(B) Outside air is absorbed 

 öÁÎPõØÖ EÔg\¨£kQÓx   

(C) Expels the air inside   
 EÒ÷Í EÒÍ PõØøÓ öÁÎ÷¯ØÖQÓx   

(D) Dispels heat  
 öÁ¨£zøu öÁÎ÷¯ØÖQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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182. In water chemical formula   
usp›ß ‰»UTÖ Áõ´¨£õk GøÁ? 

(A) HO (B) H2O 

(C) CO (D) CO2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

183. Air condition system compressor made by  
A/C ]ìhzvÀ EÒÍ P®£μåº G¢u E÷»õPzuõÀ ö\´¯¨£mhøÁ? 

(A) Steel (B) Cast iron 

 C¸®¦  Áõº¨¦ C¸®¦ 

(C) Aluminium alloy (D) Copper 
 A¾ªÛ¯® A»õ´  ö\®¦ 

(E) Answer not known  
 Âøh öu›¯ÂÀø» 

184. Receiver/Drier where fitted at Car air condition system? 
›^Áº/iøμ¯º Põº HºPsiåß ]ìhzvÀ G[S ö£õ¸zu¨£mkÒÍx? 

(A) Between condenser and evaporator    

 Pshß\¸US® GÁõ¨£μmh¸US® Cøh°À    

(B) Between condenser and compressor 

 Pshß\¸US® P®£μ\¸US® Cøh°À   

(C) Between evaporator and expression valve   
 GÁõ¨£μmh¸US® GUì£õß\ß ÁõÀÄUS® Cøh°À   

(D) Between evaporator and compressor  
 GÁõ¨£μmh¸US® P®£μ\¸US® Cøh°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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185. What is the function of magnetic clutch in air conditioning system? 
Hº Psi\Û[ Aø©¨¤À ÷©UÚiU QÍm]°ß ö\¯À£õk GßÚ? 

(A) Cool not refrigerant   

 ªu öÁ¨£ SÎ¹mhÀ   

(B) Connect and disconnect drive to compressor  
 P®£μ\¸US iøμÆ&I CønUP ©ØÖ® xsiUP   

(C) Absorbs moisture in the system  
 Aø©¨¤À Dμ¨£uzøu EÔg_QÓx   

(D) Control the refrigerant flow to evaporator  
 GÁõ¨£÷μmhº&US £õ²® SÎ¹mhø» Pmk¨£kzxQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. Generally AC condenser fitted the A/C system. 
ö£õxÁõP H] Pßhß\º BÚx G[S ö£õ¸zu¨£mkÒÍx? 

(A) Front of the main radiator   

 ö©°ß ÷μi÷¯mh¸US •ß£õP   

(B) Back side the main radiator  
 ö©°ß ÷μi÷¯mh¸US ¤ß£õP   

(C) Right side the main radiator  
 ö©°ß ÷μi÷¯mh¸US Á»x¦Ó©õP   

(D) Left side the main radiator 
 ö©°ß ÷μi÷¯mh¸US Chx¦Ó©õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   437-Mechanic Motor Vehicle 
  [Turn over 

77

187. HVAC – The condenser is a  
HVAC Pßhß\º Gß£x J¸  

(A) Radiator (B) Heat transfer 

 ÷μi÷¯mhº  ïm iμõßì£º 

(C) Cool transfer (D) Heat exchanger 
 TÀ iμõßì£º  ïm GUì÷\g\º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. Blower moving sucted from the outside air. Which force the sender
the heater core? 
¤÷Íõ¯º C¯[Q öÁÎUPõØøÓ EÔg] _________ Âø\¯õP ïmhº ÷Põº 
£SvUS AÝ¨¦QÓx? 

(A) Centrifugal force (B) Newton force 

 ø©¯ Â»US Âø\  {³mhß Âø\ 

(C) Centripetal force (D) Suction force 
 ø©¯ ÷|õUS Âø\  EÔg_ Âø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

189. The boiling temperature of in an automobile A/C refrigement is
approximately  
Bm÷hõö©õø£À HºPsiåÛ¾ÒÍ öPõv{ø» ÷uõμõ¯©õP  

(A) –10°C (B) –20°C 

(C) –30°C (D) –40°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



437-Mechanic Motor Vehicle  
 

78

190. R134a Refrigerant called  
R134a öμL¨›öáßm GßÖ® AøÇUP¨£kQÓx 

(A) Tetra Fluoro Ethane   
 öhmμõ L¨¦÷Íõ÷μõ Dz÷uß 

(B) Difluoro Dichloro Methane 

 øh L¨¦÷Íõ÷μõ øh S÷Íõ÷μõ «z÷uß 

(C) Methyl Chloride   
 «zøuÀ S÷Íõøμk 

(D) Ethyl Chloride 
 DzuÀ S÷Íõøμk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. What is the symptom if there is shortage of refrigerant in Car AC? 
Põº AC&À öμ¨›âöμßm SøÓÁuÚõÀ GzuøP¯ AÔSÔ öÁÎ¨£k®? 

(A) Worm suction tube  

 EÔg_® SÇõ°À ªuöÁ¨£®   

(B) Liquid blocked 

 vμÁ £õøu Aøh¨¦   

(C) Bubbles appear in sight glass level indicator  
 ø\m QÍõì ö»ÁÀ Cßi÷Pmh›À SªÈPÒ ÷uõßÖ®   

(D) Cold discharge tube 
 SÎºa]¯õÚx i³¨¤À öÁÎ÷¯Ö® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. Which device acts as an evaporator temperature sensing switch?   
G¢u \õuÚ® GÁõ¨£÷μmhº öÁ¨£{ø» EnºvÓß _Âma & BP 
ö\¯À£kQÓx? 

(A) Thermostatic switch (B) Blower switch 

 öuº÷©õì÷hmiU _Âma  ¦÷Íõ¯º _Âma 

(C) Heater switch (D) Defroster switch  
 ïmhº _Âma  jL¦÷μõìhº _Âma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. Which part of air conditioning system absorbs moisture in the
system? 
Hº Pßi\Û[ Aø©¨¤À G¢u £Sv Dμ¨£uzøu EÔg_QÓx? 

(A) Expansion valve (B) Receiver 

 GUì÷£ß\ß ÁõÀÄ  ›^Áº 

(C) Condenser (D) Evaporator  
 Pßöhß\º  GÁõ¨£÷μmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. Which component increase the refrigerant vapour from low pressure
to high pressure? 
SøÓ¢u AÊzuzv¼¸¢x AvP AÊzuzvØS öμ¨›âöμßm ÷Á¨£º&I G¢u 
£õP® AvP›UQÓx? 

(A) Receiver (B) Evaporator 

 ›]Áº  GÁõ¨£÷μmhº 

(C) Condenser (D) Compressor 
 Pßhß\º  P®£μ\º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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195. Normally the refrigerant is known as  
öμL¨›öáßhõÚx ö£õxÁõP |øh•øÓ°À EÒÍx. 

(A) R-3 (B) R-9 

(C) R-6 (D) R-12 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

196. How heater works in A/c system? 
H] ]ìhzvÀ ïmhº GÆÁõÖ ÷Áø» ö\´QÓx? 

(A) Hot air is circulated 
 öÁ¨£©õÚ PõØÖ \ºUS÷»m ö\´¯¨£kQÓx  

(B) Cold air is circulated 

 SÎº¢u PõØÖ \ºUS÷»m ö\´¯¨£kQÓx    

(C) Oil is circulated 
 B°ø» \ºUS÷»m ö\´¯¨£kQÓx   

(D) Water is circulated 
 uspøμ \ºUS÷»m ö\´¯¨£kQÓx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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197. AC components sight glass milky appearance what  problems? 
H.] £õP©õÚ ø\m QÍõì&ß £õÀ ÷£õßÓ ÷uõØÓ® HØ£h Põμn® GßÚ 
SøÓ£õk? 

(A) Water is system  
 ]ìhzvÀ uspº Em¦SuÀ 

(B) Refrigerant very low 

 öμ¨L›öáßm ªP SøÓÄ   

(C) Complete absence of refrigerant 
 öμ¨L›öáßm •Êø©¯õP CÀ»õx C¸zuÀ 

(D) Refrigerant very high 
 öμ¨L›öáßm ªP AvP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. The compressor compresses the refrigerant to a max pressure
—————— at 100°C. 
P®¤μå›¼¸¢x AÊzu¨£k® öμ¨L›öáßm&ß E¯º AÊzu® 100°C
ö\ßiQ÷μmiÀ —————— C¸US®. 

(A) 8 kgf/cm2 (B) 10 kgf/cm2 

(C) 20 kgf/cm2 (D) 15 kgf/cm2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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199. A constant pressure is kept in the —————— by this valve. 
SøÓ¢u £m\ AÊzuzøu Pmk¨£kzx® ÁøP°À J¸ {ø»¯õÚ 
AÊzuzøu £Sv ÁõÀÄ £μõ©›UQÓx. 

(A) Evaporator valve (B) Expansion valve 

 GÁõ¨£÷μmhº ÁõÀÄ  GUì£õßåß ÁõÀÄ 

(C) Compressor (D) Drier 
 P®£μåº  iøμ¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. Which of the gas change to liquid and gas in flowed of Air Condition
system? 
G¢u ÁøP ÷Pì vμÁõ©õPÄ® Áõ²ÁõPÄ® ©õÔ ©õÔ H] ]ìhzvÀ 
£¯ß£kzu¨£kQÓx? 

(A) Refrigerant  (B) Oxygen 

 öμ¨›âμsm  BUêáß 

(C) Hydrogen (D) Carbon monoxide 
 øímμáß  Põº£ß ÷©õÚõUøék 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

_________________ 


